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Measures of Central Tendency

EXERCISE -~ 3.

NN T N —

(o) Coleddale the  avithmetic oean 4 5.7, beb, T2 9.3
b2

(b)) The m:ahkcinkg) ¢ & mw O babiey o 3,
3.2, 234,35, 4,36, 1,32 Lid fe wean

o) Sum d!‘ S obtemationd - S T+bb +—7*2_—fﬂ‘5+6.9_:3§.()
Meon = 25O 4

£)
(0 Qi 4 B \M&W = 343243 4+3:S 4 (,+3.(,,r(f.;+3t
= 2%
™ S & - . .
eox) 3 = 3 S‘Ka
The  movkY  obtained 'S Studaslt o clag st

ove 1\, , 01, 09, 23 1\, 08, \33, W, g, W 20,
M, 03, 20 Find

) The mean & heir maxky .

(W) The  meon § ~eiy worky  whed Ahe okl 4 each,
Student  pcveased ‘Od- G-

W) The mean o v ok yahen 2. moxks oo
deducted  fom the  mwosks & eacdy  Hudewt -

QO e weat G MarkA  whon e warks ﬂL

coch  ¢tudamb ave  Houded.
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Typewritten text
Measures of Central Tendency


Sol.

|

|

Sum o mavky ‘1— (€ Hudenly :|§)+l9v+7+9+&3—+!(-{-8+
124+ M+ 194 1b+ 24+ 1+ 2490

= Ao

) - :Q_Q;?. = 3.9
(1 Hean = TS

(i By mcmr»& G ™avkZ  in eschh  whudBt Hhen TC reage.
voxhs = \Sx 4 =60

New Somd = Q0T+&0 = 867

61 _
Ned fneof = —o = -8

G ey deduohra S skt fom ecl, Suder | ~ther

-{an ceduckion = \SxQ = 2p
New Sum = &07- 20 = 171y

New wmneorn = L?;—L = \\’5

LIV e vk mrﬁ Aeakled q.&dA Gude ) Jhe
He  Pew Qump - OTxy = Ly

New  teary - e\”g &4
!

£

(@) the ™o 4 Hhe rumberk G,‘d,‘r,’llll, i

L.,
Eaprent % ey ong o .

L by The weom § 9 Varidles iy . % aid»F 4 thery avo

19,9, 14,81, 3,8 and IS, Find the o*h varigte .

() Somg, wumber = brdt T 41y <

&‘Hx\t& s
Buk wean ¢ € Numberi =8 .

Sy = BXT = 4D — 1)
Lo U & (i _
QT+ A+ = 4O

= Mty =2 13 2y =13-%



| tb) Meon d- 9 vavidaly o

Motal) Summ =1W1¥9q = A9
Bk o o & o dhere Nowloley = THIAtA4 4 214348 ¢

s = 39
coo yariel = 49-29 = 10

(@) The maan) ofe t 32 studedly o o clag i (2yeay,
AL oo a‘ni leoved the clasg | 4he meon beComes 1&% _
Yoot - tohot {3 e o@e o the gixl 7
(b) Gna clag Teat . Ahe mean o marka  SCawed E(i‘[‘ a
clast - Lo gudenlt umng  colowlaled A (%35 |ater ON .
it s, detected  Ahat te mavky 4 ere Student wng
Bﬁfﬂ"""&:‘\& Copied a3 & lotleod & 29, Od 4e Cosvect
weas -

Q) Heow ope - 23 ctudenk = \q yeart

Tl opp = \B%B2 = 29 Yeoxk .

ALy ‘Leowiﬂa one %‘nﬂ; Fe  rean dl? 22 &‘l'uda_!”;{.[

= \glS . 801 yeng.
:;1[!, lb\i

Tokad age 4 32 studeily - lxae = Gy years.

Herta e oge - ol = yaq - wY = (5.
(b) Mean ef mavky - En{:nm& maxkz o (o Sudery
05 —
= B3 = % = M = TR
A% eomky 4 ore Studel Lo h:rmrﬂl«@ Copled a8 g
niteod J*_ 29. = "_[51?:.‘&‘1|+Q(?.t 13 b

. . 13b
_.ij':':e,f;l-m?_nﬁ— W = ‘E*S”



[3'45'-! Find 4phe meon o &g Aven  numbeyA  when the ean

g 10 o them ix 13 and the meon % the Texmﬁnln&
ramberh U VA
Sol. Meary o 10 Dumloeyk = \3

o 8w = \20
o voean o Fﬂﬂﬁdqﬁ 'S mumleetA = 1%

Sum =

Toed  Sum o S numbett = 1304270 = 40O

\3¢10 =

&% 1ls = a’o

Heon 4(— ac mumbexa

—

Lo

—— -, -

Q%

Qb?FWﬂ the  weon & e %ﬂbwhﬁ dictvibution -

Number 5 10 15 20 25 30 35
Frequency 1 2 5 6 3 2 1
X f fx
5 1 5
10 2 20
15 5 75
20 6 120
25 3 75
30 2 60
35 1 35
Total 20 390
Mean « =% . 290 -39 :
= £ 20 Q= 9.5




Q1

¢4-

The  Corferly o 10O motchlboioy  weve clocked o

No.of | 35 36 37 38 39 ‘ 40 41

matches |

No. of boxes | b 10 18 25 21 12 8

|

1) Colculole , Covvect 40 o decimol plate. 4 rean no‘cf;
motchat per box .

(1) Delermine how ‘Y‘Ofe"j Zatyen  Troriclied woald houe 4o Lo

odded t0  the. ol Codenll o e 1o bowt 4o
ban e  mean  upto %mc:?-*é 29 madehay .

No. of matches No. of boxes

(%) (£ fx
35 6 210
36 10 360
5 37 18 666
38 25 950
39 21 819
40 12 480
41 8 328
Total | 100 3813

-

26 % Tloor = 2813 - 2g.

UV New mean = 29, "'Fcl:nQ Sum..: 29%100 = 3900

() Meawn = 284 3212

O oNew makelay 4o be added = SPV0-238|3 = 7.



| Coleslate e mean Gor the —%ﬂnuah‘a dithrution -

Pocket money (in Rs.) 60 70 80 90 100 110 120
No. of students z b 13 Iy 24 10 3
Pocket money (in Rs.) No. of
(x) students fx

(f)
60 2 120
70 6 420
80 13 1040
90 22 1980
100 24 2400
110 10 1100
120 3 360
Total 80 7420

S4
Hear « — A _ l48 N
sy 20 = 932.778

Siv Coimk  were td&ed 1000 timeg, and ot aoch toR _
the  no-g heods weve  Couild e vetuth  were
Yetovded o umc_iﬁ 3




Qo

No. of heads b

No. of tosses 20

25

160 283

338

140

34

Calcalale +he meon r 4hig distibution:

No. of heads No. of tosses
(x) (f) fx
6 20 120
5 25 125
< 160 640
3 283 849
2 338 676
1 140 140
0 34 0
Total 1000 2550
Meow = -2_\01 . 2§D
s oo - VT
fiod Wa weon fov iy distribution:
Numbers 60 61 62 63 64 65 66
Cu;ml;tive 8 18 33 40 49 55 60

frequency




col. |

Numbers Cumulative frequency
(%) frequency f fx
c.f.
60 8 8 480
61 18 10 610
62 33 15 930
63 40 7 441
64 49 9 576
| 65 55 b 390
‘ 66 60 5 330
I Total 60 3757
28
Hegw = - ‘33151
f o ba. blb = LQ. 68
.
Category A B B C D E F G
Wages in Rs per dav 50 60 700 80| 90 100 | 110
No. of workers 2 } 8 21 10 b 8
(1 Coledlale o waom wage - Covieck o e Wiaves)-
Tupee

R R
dovbled . what  yooud e




Q2

Category Wages (in Rs.) No. of fx
X workers
f

A 50 2 100

B 60 = 240

C 70 8 560

D 80 12 960

E 90 10 900

F 100 6 600

G 110 8 880
Total 50 4240

tir Hepuw = & . bGauo
sf = ° 24 80O = BT

i) I Mo Lovkers o doubled | Ahen

Toke oo woovkexs
Gorad uINaGL o e doulbled

. Tokal UD:)ﬁ_l

Conew)  mmean

The mmorkl abkadned
Zqominokion oY @xsm velowy

-
—

—

Y940 *a = 3480

2430
10D

= Sova = |oo

- 84-8D -~ 3T
o St o Studedly in a

Marks

10

15

20

25

30

No. of students

12




M Numeicol Ve &
od.

Marks No. of students

() (£) fx
5 6 30
10 4 40
15 6 90
20 12 240
25 X 25x
30 4 120
Total 324x 520+25x

Meary = Sfa | %204 2T

i’? ?:?_—p"[

Rob Mool = (g {_%‘Nﬂﬂ)
C204+2% 1%
29 4 %k )

= S0 4at™ = §b 418
= 2T 184 = STb- SS90
= T4 = %b

1

%1:_'5_1()*
7
3

> =




Q3

Sol.

Y the @enn o e —Goﬁt-uﬁ*ﬂ& digtvibubion & 1.5,

Cied e m”m‘fa froguent £

Variate 5 b 7 8 g 10 11 12
Frequency il 17 10 8 6 7 b
[ Variate Frequency f.x

(x) (f)
5 20 100
6 17 102
7 f 7t
8 10 g0
9 B 72
10 6 &0
11 7 77
12 6 72
Total T4+ 563 + 7f
§ T4 + £
- b3
Sl = SN
I+ ¢ 10 3
2 2(%63+14) = 15CT4 +4 )
= W26+ 4L = o +igf

=  F = uab-tho

=y f



a?m:f Find the  Voluo o -he mwtirﬂ Vorialy v the Sellowing
L didkribobon  whdg toean W \0°

Variate(x) 5 ] 0 11 ) 15 2

Frequency (f) 4 : 4 1 3 2 1

&tﬁ'. leb miA&iﬁé Variole e A, then.

Variate Frequencv
(x) () fic
5 - 20
7 4 28
9 4 36
11 7 77
X 3 3x
15 2 30
20 1 20
Total 25 211+3x
Hean = ._é'FL _ a4 3
L as
Lok Moo = D Ca'lue.n)
?"Li_t?’;*_ =10 = 2ll+2% « g5¢p
= DU =29 =S n= 13
B Yol = 13




In on  Zaominohion -oken bﬁ 50 cordidalsy . e orkg

" octoinad a¥e  given in e ol leelow: Calenlals the
WEOM W KR
Marks 0-10 |10-20 20-30  |30-40 40-50
No. of candidates 8 14 13 10 5
sd- |
Marks Class Mark No of candidates
| X X fx
0-10 5 8 40
10-20 15 14 210
20-30 25 13 325
30-40 35 10 350
40-50 45 5 225
Total 50 1150
veow - EXL 0 g,
2, —




QIBE Cind e wWooan - e *FOI;W"'@ digtribution
(lass - intervals | 0-10 10-20 |20-30 30-40 40-50
- Frequency 10 b 8 12 5
gel . Class Frequency Class Mark
(f) X f.x
0-10 10 5 50
10-20 6 15 90
20-30 8 25 200
30-40 12 35 420
40-50 5 45 225
Total 41 985
Moom = é%__: %?? - ab. 03t .
Q. Tha "g"u“WMQ"ﬁ dm{-ﬁba_lh‘gq of .
marky  obtediued bﬁ

| (o tudei 4o cloy W undey. Calenlole Ao
 Onvdbretic. wWAQouu |

Marks 0-8 |8-16 16-24 24-31 32-40 40-48

students b 3 10 16 4 2




Marks No. of students Class Mark
f X fx

0-8 5 4 20
8-16 3 12 36
16-24 10 20 200
24-32 16 28 448
32-40 4 36 144
40-48 2 44 88
Total 40 936

Avithmet'c Muom = €45 a2k _ g3,
4o ¥

Cird tha
Moo o g -?dfouoina '@me‘la\ dtd'ﬁb\-lHOT):

Class -intervals | 0-50 50-100 100-150 | 150-200 200-250 250-300
Frequency + 8 16 13 6 3
Class -interval Frequency Class Mark fx
0-50 4 25 100
50-100 8 75 600
100-150 16 125 2000
150-200 13 175 2275
200- 250 6 225 1350
250-300 3 275 825
Total 50 7150




-

A threHC rrenn

Sea

=4 T sp

T80

= (&3

weighi o 50 ogos were vecovded ox giuen kelow
Weiht(ngms) [80-6¢ | 6589 |90-9% (9599 |100-104 |105°909 |110-114
No. of egs 5 10 11 12 B ) 1

Colewlale  Hheiv treow \wﬂi‘ahF 10 Hag Mmml—%mm.

let-  asdurned  Heoun(A) = 9+
Weight (in gms) Ne. of eggs Class Mark 0= ﬂ
h
(0 () fo,
60-84 5 82 -3 -1
85-89 10 87 2 w0
90 - 94 12 9 N 7
0 0
95-99 12 97
1 8
100- 104 g 102
2 4
105-109 2 107
3 3
110-114 1 112
Total 50 -32




20

2Ly
Hean = A+ hx L= 974 —32
2 X S = AT-we

= 93.% = C}(f,rammﬂ.

The —{bllo@ina dalde a |
Aves te  dad Woges 4 <o
vovkert §- o r-(;gc_}ora ﬂ

Wages(infs) |25-30  [30-35 (3540 045 | 4530 50-55 55-60

No. of workers ) 1 5 9 1 10 2

Coltulale  4wg  wiooun c[mi{d 'abﬂq o Adrher o Hho
-caCbTE}- L e d&ilﬁ Woges v} all the wWovkerg
oye inCYyeased Eﬁ Ra 2, what will be thy 1ow ean
dm‘i% e worker

Wages (in Bs.) No. of workers Class Mark U= ﬂ fu
h

] (x)
25-30 2 275 -4 -6
30-35 1 325 . o
35- 40 5 375 : N
{] 1]

40-45 g 425
1 21
45-50 21 475 : 20
50-55 10 525 o

3

55-60 2 57.5

Total 50 34




le- osgumed meonCA) = 48 and h=¢

V) Meon EA—Hwﬁ”— - Q@-S‘-—}gx__a_t?‘_
¢ 2L 50

= 425454 = 459
S Meawm = R4 90
U 2 R avw intressed o each wpvker, —then
o tncreased  port = SOXE = GoO
Bl woper = R 459 KD + R1400 ~ B, 269¢

S New meon = 369 py 53,90
S0

The  wmoan o the rgoﬂmﬂirﬁ dictriloution W 23 ¢ .
Crd Ay value 4- ¢

(lass- intervals | 0-8 8-16 16-24 24-32 32-40 40-48

Frequency 5 3 10 p 4 2
Class Class Mark Frequency |
Interval X () f.x
0-8 4 5 20
8-16 12 3 36
16-24 20 10 200
24 -32 28 P 28p
32-40 36 4 144
40 - 48 44 2 88
24+p 488 + 28p




. Tha  Hollowin digttibution  Shews e Aail

Moon = aplyx £ _ .
20 - 2%y

= 422+ 2%p 22y
24 4 p 10
= (usg+28p) 10 = a3y (&4+p)
=) G20+ 220P = Sbhlb~ a3y p
=) 46P = T3b
= Pz |b.

. Pocke
allowant o o chidren o o (oealily . The LH

bocket altownnte {6 R 18- Sird e “voue ¢ 4 -

Daily pocket allowance (in | 11-13  [13-15  [15-17  [17-19 [19-21 ) ltié 23-25
Rs)
No. of children 3 b 9 13 f 5 4
Class 7(.‘]353 Mark Frequency
Interval X () fx
11-13 12 3 36
13-15 14 6 84
15-17 16 9 144
17-19 18 13 234
19-21 20 f 20f
21=23 22 5 110
23-24 24 4 96
40 +f 704 + 20f




Meaw = _&. . Toy ~+ 20§ =18
=4 A9 +4

S TOY% + 208 = {3 (40+4)

D 704 +20f = TR0 4 (&f

= 2f = 1b

3 4 =3

| The aran 4 the -Qol\O!n"fa ditribution ik SO and 4l
Sam o ol W frequentiy W 120 Cind e vellees, o
P ond

Class intervals 0-20 >20-40 40-60 60-80 80-100
Frequency 17 P 32 q 19
Class Class Frequency

Interval Mark (f) fx

X
0-20 Lo 17 170
20-40 30 p 30p
40- 60 50 32 1600
60- 80 70 q 70q

80 - 100 90 19 1710

68+p+q 3480+30p+70q




{3!2{'. J

Sum - all  Ayequentie iy \ 90
= 634 P4y <190 B+ =52 b

Hear - S_"?'j, _

. D4BO~+ 0P 409,
24 =

6% P+,
D 3480 430P 47709, o SO(6%84+P+9)
= 3480 4 30P+ 70 = 2400+ S0P+ SO 9

= 340 3400 = SOP ~30pP 4 S0, ~ 105,
=) aoP—noﬂf = &0

= - = 4
Adltogy (DAL 5 | g

S0

(i)

5P - 28
Put p=2% 0 eqpadion\ih  5g.q . b Dy =ay

The weanm o o Collowin distvibukion W o, ¢

o Wa Qumn d- all Ay %@*ﬂﬁﬁﬁ-", W <. Lind
Ahe  Velua d- £ ond oy

Classes 0-20 [20-40  |40-60 60-80 80-100 100-120

Frequency 7 p 12 . 8 )




Class Class Frequency

Interval Mark (f) fx
X
0-20 10 7 70
20-40 30 P 0p
40- 60 50 12 600
60- 80 70 q 70q
80 - 100 90 8 720
100-120 110 5 550
32+p+q 1940 + 30 p + 70q

Surn o all —Qwrw:mtiq % ED
D B2 4Py =<0 DD 4y = 1
Nouws FVOCP_P_EI a? albow Suertion ,

The —'?o\’cnm‘ma “lalde awey  the  life Hme {q daw d-
100 alec%ﬂﬁ'{% tubey o o Cevboin make

s

Life time in days No. of tubes
Less than 50 8
Less than 100 23
Less than 150 55
Less than 200 81
lessthan 250 93
Less than 300 100

Flod the.  weaw lfe +ime 4 ﬂﬂt%ﬁtﬂ%’tﬁbqi



§ob-

Life time (in days) ef. Frequency (lass Mark u=T fu
(Class intervals) (f) (x)

0-50 8 8 25 -3 U
50-100 3 15 75 " -
100-50 55 3 125 Ll

0 0
150-200 81 26 175
1 12
200-250 93 12 225
2 14
250-300 100 7 275
Total 100 ! -®

let- astumed mean Ca) = 195 od h=s0

Heon = 64—"\ *® Z’QU
55

=

VTS—30

T
.
=

—60

100

Uﬁt‘a the \olormakion Qiven 0 the odao'\rﬁn%
\-)Ug'ro%mm , calenlolT e wean Cawec\- 40 are

Aecinal Pace .
3
12} HISTOGRAM
10 |
g°r P
s 6}
o -
& oaf
2
0 20 30 40 50 6070

CLASS INTERVAL




o the Nﬁoam“) aive,n we 'Y‘Q,P’rﬁ’y(ﬁ"‘ e
Woermedion 1o the —Qb\\o\nina “oble !

Class -interval Frequency Class Mark (fx)
(f) (x)

20-30 3 25 75
30-40 5 35 175
40-50 12 45 540
50-60 9 55 495
60-70 4 65 260
Total 33 1545

Meow = 2"?'1 5 \'5‘(}%‘ ) G Bt = ST
RS 33 4 Ho -3




EXYERCTCSE - 23%.2

_—

.| A Studert  Scamed the  Lallow

wesky n 1) AeAtio ng
dro‘ %&Hnﬁ P)"PLT" E/tfz 1/"’?/?3! E,f_, B,ﬂ’ 5‘,7

fFind the  apedion moska

ATTG\'E]ﬁ% 0 the mcvdi'fg oveley 1,9, 2 2:4.5,5 6
7,71, 8

S deye. D= {1 e ocH

iddle teren = D41 140 th
The i o = -——-—; - a8 g “erm |
H-P..du::&.ﬁ = K a

Q2 ) Fird oo wedion o the  follpugs

o) -

| ?j et o nUmlbe vy -
q,ﬂz arEI-r 5! ?J'I’ES-XLVi/ l'!;’ &r‘.—i

) for -the r?o'llm.ﬂ{"‘% Set & Pumleet® | find the. mreclian .
0,75,23, 8, 17, 27, ¢. 812,47, 9

and 15 .
@Lﬁuﬁan%in& ) cutartli-’a ovclex 1o |, 3, 2 2.4,5,5,7,3,9
Heve =18 which g even
Medion = —&%“ tevm %.fr)*}—ke'rﬁ"]j
. #
&{ 'l;% =+ Q—&M)ﬂ
= jé- [ b’“’l + -—Ir'l’h ]
= ‘Er 4 '3]
= .L[« =

{\b ) p,-;ﬂ:méir% Hhe %Nu‘} nuMoe YA 0 ajCend ovday
DA 0, W8T, 17, @7, 41, U, 75, 8|
Mere n=)g wahicha Wwooeuen

Hedian = Mean aﬁ[é&*ﬁﬁmw Qﬂilﬂjﬁ" "{‘Q'fn,-;:]



Qa

&d -

]G

= Hean E‘T‘ eth and '} dermm

= 1S+17
.

- .

‘1-@ 3.%,00, A, ,1b,. 18, 280 are in alendin eder and

Heiy  median 1y 12, Colculale He  mumevicad ualuy d-
%
2, 9,10, A0 16, 18, 2D arve in aLcwdEn% ovder

ord dhely pedion = 1>
Here. n=7 which 1 even
Ho.d:'u.'f‘) = :‘i[‘%h ey m -f%x)ﬁﬁ&fmj
= (BN A (G0N terms ]
= %:1 { Yy Pderem 4 st —te:rm]
‘ECW%ILF)

AN 2 Ay = ab =S w=la

—

=N
Colenlate the wean ond 4he  median o the Pumbe T4, -
.ﬂ/l,Dﬂ'ﬁfr, 1,’5!}"{‘3,’5--

It

N‘f'\‘d% n ﬂ%&-ﬂ% otdoy W 0,00, 2,2, 352 64,$
Meve =10 which b even
Mean = 4 (£%) = L (orl 4142424343434 4 4 5)
B (a4 = &4
Hedion = f 13%4371.%4 %-ﬂj —}eym]
= 3 (sh Y ﬁrm)
+(C a+3") =

It



Qs

Sol -

Colenlale e ymeom ound Hy  wedion of the Numbery
T;q;ID,—%;if GG, %,"1,»[,'3,,&1 _‘D_’Jf_’;

Wviting 0 aifending  Oncler
\u_.-r '\J' E—fi.f r-.;b‘,-' (;-f't{wfqif; Sfl)/_ %fﬂ;q)‘u
Heve N=14 which ly,  even

O Mean = 27 l{f_(uli—&*# QDA Gt Yt G+ S+b 4 B4 9410)
™
=L = 2% _ .
G (68 =5 = 485
() Medion = 3 * D* oy, +@D’+Q*”+em]
= g [ B M erm 4 (U e |
5{"1 {a*rmf%ﬁﬁ-fm]
~ (4ty) =

The meoM di— e umberA 1,77, 5, B;f«}ff{ I&m The
U rmoet & 3.2,4.,2,5 3, P have rnecn LI and Tnede'o..ﬁ
q . Lind (O Py WO The wean o poond o

" r\i;Hmr} D&-— 'lr‘.l_,n- 5..-’ 3_.{ L|L.-"C+ i& m* —HE'TQ ﬂn.-b

m = \%‘1+5&3+!++_i'+ . 8% _ ¢
1 6
Mooy 4 & 9 4,9,2. 3. P ik m-]

-l = B49 Q4+ 3434
M| = + 4+ E = 4= 11+ P
i
=) 4P = N
— - P= b

() Now median o 2,92, 14,3, 3,34
uniting Ahern io uhtanc:lnﬁ ovdey 2,3, % 3 3, 4, L
Mere 0= 7 which W od



Hedion = DXl thdeven - T4l _ gt form = 3
>

Fird e  tedion Gy the —E)\\D’L’Di"‘a Aitsilation

Wages per day (in rupees) 38 45 45 55 62 65

No. of workers | 14 8 7 10 [ 2

m'ﬁt&ﬂa e di’iT:l]DU-J‘:lDTJ w Carmulative -&m{)&hQﬂ 'U).l:d{"_':

Wages per day No. of workers c.f.
(inRs.) ()
38 14 14|
45 8 22
48 7 29
55 10 39
62 6 45
b5 2 47

Heve W: 7 which @ odd

' Nt .
Hedion = 5 th term = .LLj?i] atr'lb{e:"m—.—_ U2

(- Here oll 4he Obrevvokiont ~om 92 to 29 ave

Ecv.ui 10 t%%)
CoMedion = 1. 4%




| Fird dhe wedian Loy e —?olh::.u:ﬁna dirtribution

Marks 35 45 50 64 70 72

MNo. of students 3 5 8 10 b 5

mﬁﬁna the dirtvibubion W Cumulabive F&W&ncﬁ tolde -

Marks No. of students (f? cf
35 3 3
45 5 8
50 8 16
o4 10 26
70 5 31
72 5 36

foxe n= 3H which B ewven
Hedion = é[‘%— A k™ *C%Ff-*‘)’(h -t&rm]
= 5 whtem + b derm ]
= 5 C8Ltby)
Medion.= 6 .




Hoxkk cbl:::ﬁunr lc.ﬁ -0 &’tudtﬁ aYe ,a'quu) below

Marks 20 70 50 60 75 90 40

No. of students 8 12 18 b 9 5 12

calewlals medion) o KA
(ot Axvorpe the \J&Ti::{‘tq ity &LCendh& {j.'Ed,Q,\')

ergngj‘xr% e uaﬁo&i} w qgcendi:a ovdey  ound iﬁ
C £, toble.

Marks No. of students (1) c.f.
20 8 8
40 12 20
50 18 38
60 6 44
70 12 56
75 9 65
90 5 70

Heve n=T0 owhich W even
Medion . ™
edion — é[l@? e 4 @%“D ﬂrm]
- %ﬂ[ 25 dorony + E,I:,*h*fcarm]

[ 5o+ 50
= S0
(Mere all Hhe obrexVodiong from alty 28 all ave equad to 1)

1
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Colenlale the meon and medion) Lov 4he —?c;a'llomin%

digtvieution :
Number 5 10 15 20 25 30 35
Frequency 1 2 5 6 3 2 1
Wriking e dittvibubion n ¢ F talde
Number Frequency cf. fx
) ()
5 1 1 5
10 2 3 20
15 5 8 75
20 6 14 120
25 3 17 75
30 2 19 60
35 1 20 35
Total 20 390

() Heon = _25% _ 20

= 195
) Heve =D whieh W ove)
Medion = %[%%&rm =t (L-%*rl th —l:e_l’mj
= j{%*ﬁ term +%+Dﬂ’ 'Eﬁ‘fm]
- u:';l_f 1Dﬁvl;efrm_~+ \l “"kﬁfm]
= ]Ef_amac) = Q0
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3.

The diaﬂa wages ( iavupees ) o 12 workers are
b, 21, 3%, 7,3, 45, 2%, 26, 29,20, 2% ,25, 35,42, 47,

5'5". iﬂi;?}t/ 5. 1 '
ﬂﬁd f\liJ'Th{_ frﬂﬁﬂ.ﬁ 'C'I.TJ \ e ¥ a,t.ko.‘i"'bllﬂ_ L) L.I.PPLT %Jﬁ'lfll{’_

() irfer c\tm-ﬂ;llgh Taﬂag_,

q\‘w Hedion = %%{-1-‘”‘;’} = m‘;" . Iothce_Tm-:h '3}

o Lo wer ou_;o{ihﬂﬁ_ (@) = ﬁ;l « M. B e = g4
' G

Wi uppeY ﬂ,{‘m’t’cﬂ.t Q&a) = 3(%-'-) = ?,)(.Dq""_f ) = | Sthteym = 4
UND ke WTH'IF- T&r%a = Q-8 =4lon = 1y

From he —E‘oﬂamifﬁ —Qn:_o,pe.m% didvibution . find -
(1) The mediof LD pudex %}&TH'IE. Ly Luppey qt.m\‘f{:ile__
(W) iwder apavtile varpe .

Variate 15 18 20 22 25 27 30

Frequency 4 6 8 9 7 8 b6

ua"c"m% r@;mwmca w dikkvibotion W Cf dalble
Variates Frequency (f) c.f
15 4 4
18 6 10
20 8 18
22 9 27
25 7 34
27 8 42
30 4] 48
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a0k

Heve n= 4% which iy euen
Gy Hedion - %l—{%iiﬁ&eﬂrm +Q‘i§;+1’)*’ {-&rfﬁ]

= —L.-j{ a6 b term + @‘E*J:e_rm] Eéfanra&]

= 29
Cobferiokiony Loy 19 ko 271 ave all E%&D o =29 .

L Louwoer c’\uaﬂ:i\p_ﬁg,j - .E‘J_""-tejm - _{«\_lf)_ - (9P 4erm = 20
R Upper Q‘LJWE“EHEQEJ&) - _i_”__ th formn = X443 _ Bl;,h-term-: a7 -
. L

v dvkey ﬂ\i.m\‘fi:;."-l?_ "[&Tﬁ?_ =R, -, = 27~ 20 =—F

For the- fpllowwing Greopiency) distvibutivn, Sind (i ) the median
LN LMT QIIJ&T":U[P_ \:\RR} uppey apovtile .

Variate 25 31 34 40 45 48 50 60

10 15 10 9 6 2

oo

Frequency 3

writing ne distaibukion in ¢ tade :

Variates Frequency (f) c.f.
25 3 3
31 8 11
34 10 21
40 15 36
45 10 46
48 9 55
50 6 61
(1] 2 63
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Heve .2 which it odd
(o median = bat] pderm — 29" term = 20
(>

G uppey opartile (®s) = &JJ‘ = 206340 - g™ erm = 48
U

URe Quoph poger <or thix oyaeilion:
The toble gien kelow  thouwt the wxmr%% WoQer of

© Cowma —{:‘DL“‘OT& Wovke rA.

QL lel.ua dhe  —tolde colonlalt  the cummuliliye *@T@Puﬁq'

o workerd .

i) Dyvowo the cumulative ‘g‘fwud Cuvye .

(% gcm = Ro SOO. &Jmﬂr'ma e m“m&'m af f.6T00 on
ond 20Mm = 10 WoTReXA by Yooy

FL-—Q»."LjJ. ¢
U AL U qroph ‘o wiile down  the medion
L0 w o Ra.

Wagesinfs | 6500-7000 0TSO0 | 7SO0-8000 |S000-500 | 8500-9000 [9000-9500  |9500-10000

frequency 10 B n 5 17 10 §

toriking  the. ditkrilbution in cummulative {Wﬁ tolds .

Wages (in Rs). Frequency (c.f)
6500-7000 10 10
7000-7500 18 28
7500-8000 22 50
8000-8500 25 75
8500-9000 17 92
9000-9500 10 102

9500-10000 8 110
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Now alking piwks (1000, 10) G0, 28) . (@D, 50,
(e=o0, 15D , (Ao, a2) - (As00,100) , (10000, 116) on
the quaph and  Join e in ee hard to B on
oV ¢ eoF €uvve) o4 Shown-
0= WO which iy eveDd
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- [ 55htem 4 o texm )
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Gake o Ok A(55:S) on Y -oniy and though crow a
Ure povalled o -0z wohich weeli e Cuvye

ok P, deaw o 19T om X—ooin which wael] -omgr
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the following 4able  2hows e ditvibution o the
hejah‘l'/s o o Qvoup o —R)c&owd wovkers .

reight (cm) 150-155 | 155-160 160-165 |165-170  |170-175 175-180 | 180-185

No. of workers 6 12 18 20 13 8 6

) Petermine the  Cunnulobive -Qxepvueno'e,x
W Draw e ¢ Cuwe on o avaph poper.
De & = Sem hd@\n\‘ 6N ore otin and 2em = |10
LOoT¥eYs on the. Ofrer.
() prom your graph, witedown the  madian bejaph m .

Qawmﬂhfa Ahe digtvibukion g CE  divibubion:

Height (cm) No. of workers cf.
(f)
150-155 6 6
155-160 12 18
160-165 18 36
165-170 20 56
170-175 13 69
175-180 8 77
180-185 6 83
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‘153 160 165 170 173 180 -183
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dett nN=82 which X even
Now sy poidty (i, 6)-(60,18) (163, 30) (110, 50).
(s, 63D ~ (180,77, 48 5, %2) on the reph-
Now  Join them it fron hard to Aorm  dhe
D%NQ_ o OF Cuxve ol clhpuon.,

Hete n:=83 which ik odd

Medion = ..%'ﬂ.#h obtevodion « 234 _ q,i“ﬂl‘ sbacrvation.
9

Goke o poirt ACh2) on Y -awy and $Hom A diow
o horigental Ure povolled to o —oviis chm& the_

Covve o P Som P dvow a LGne 7 to - o
which medls L ol q .

LR i the redion  whicla b 5Cm .
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Sol.

Uh\'a the dalo %'\\jen elow comtruct the Cumulodive

ﬂﬂlfwud “able ond dFow 4he o&iv&~ Lo e oa'\\m_,
dolex it 4o Tredian):
Marks 0-10 10-20 20-30 3040 40-50 | 50-60 | 60-70 70-80
No. of students 3 8 12 14 10 b 5 2
szrwf*{fa the  distvibution 0 cumeulative 'Gracwenc&
diksibution.
Marks No. of students (f) cf.
0-10 3 3
10-20 8 11
20-30 12 23
30-40 14 37
40-50 10 47
50-60 6 53
60-70 5 58
70-80 2 60
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(6o, 52 (10,58 + (20, 60D o0 4he graph. Mow  join 4hem
o e hornd o o on ca'wr; oy 2hown.

Heve. =060 which 18 even

Hedion = é.[%?% fevm +(%+1)% *&TW‘J]

NEs52823

5[ @b derm 4 31¥ term)
. 2n.sth pbRevvetion.

NOW Aoke a peint A(20:5) on y-ouiR and from A

dew o Une povollel 4o w—anuis fma-%?fa Hye Cuvve of p
oand Lo P dvow o Qe b0 A~oix mu-Hrﬁ T
ok §-

e Ahe medion  which
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UM ‘ﬁmph paper Lx thig Aprestion -

The Adlow!

“4alde Shoud  4he u)makﬁ i e 4 o

Somnpe 9 100 potsloy  taken o a loxpe C@nﬁ.ianmt’ﬁ“:

Weight (gm)

50-60

60-70

70-80 | 80-90 50-100

100-110

110-120

120-130

Frequency

10

12

16 18

it

12

10

th Calewlale o Cumlm-tﬂ'ﬂég —Qmwmt,iu~
CE  Curve

medion k:@,i&hk 4- potaloey .

LW Drowd o

ond o b detevrmine. the

Weight (gm) Frequency c.f.
50-60 B 8
60-70 10 18
70-80 12 30
80-90 16 46

90-100 18 64
100-120 14 78
110-120 12 90
120-130 10 100
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Cioo, 60D . Qro, 48 .(1ao, 20D, Qgg, 100D on the QEoph
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| Atermph thig W on ﬂ'ro\ph papey.

Age (yrs) 5-15 |15-25 25-35 35-45 45-55 55-65 65-75
No. of casualties i 10 15 13 4 B 7
due to accidents

e Corfruch Wi-lemﬁaﬁr CE Cuvve oy the  alowe C[&QE\,I
Uﬁf& 2000 =10 ffearh , o OT® addz  ond 2tm= [0
Goauoliney o0 the Otfex .

(D Fom  Jour amp'n Aetexmine

A The  mediot) () The uppey G\kkm'f"ci{a.

Age No. of Casualties Cumulative Frequency

Less than 15 A 6

Less than 25 10 16
Less than 35 15 31
Less than 45 13 4=
Less than 55 24 68
Less than 65 8 76
Less than 75 7 83




vow pot e poids (5,6 (25,16 @S, 2D, @S, 66)
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at P ord Som P, dvow o 19T g 5~ O mm—l*ir(i_c:lj
it o 8§
@ i e oedian which i 43,
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&Iqil The dmil-ﬁ lﬂnﬂu,q of- bd wovkesk \na h,:ildir& mjgﬂﬂ

fAYe @mﬁ IE'E".D’UG :

‘ Weight (kg) 40-45 |45-50 | 50-55 55-60 60-65 65-10 T0-75 | 75-80 ‘

‘ Frequency 5 7| » 45 51 31 20 9 ‘

U!.,iha o P Popey deowy on maiw_ Love Ao above
Aldsiloubion . LA jour na}m_'ko estionale -

¢y The  wredian  woge & the.  t0O¥HeYA .
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) e Youwe X otiile WO g the Wotkeva,

Uv) e T)P_T(‘ln.f‘\‘()ﬂ:&_. d- workers who €N movethan
. LS o doﬂ
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Wages in Rs. per day Number of workers Cumulative Frequency
0-10 12 12
10-20 20 32
20-30 30 62
30-40 38 100
40-50 24 124
50-60 16 140
60-70 12 152
70-80 8 160
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ave oy Aolows

Marks

0-10

10-20

20-30

30-40

40-50

50-60

60-70

70-80

60-90

90-100

No. of
students

10

20

55
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 brow e oﬁme_ and o it determine
) The medion ouk ond G T ?o%mfrh,g % %OV *
e  chudedl (oA Zyoro caion .

qumhtﬂ’d'”% “the ﬁ:-.\]-&ﬁ Al n e cf oble a3 %‘W’—ﬂ e L

Marks Number of Cumulative Frequency
students

0-10 10 10
10-20 20 30
20-30 22 52
30-40 40 o2
40-50 55 147
50-60 75 222
60-70 B0 302
70-80 58 360
80-90 28 388
90-100 12 400
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The roxks obtained bﬁ 120 Studedlt in o emadbematics Test
oNe %‘\\Rﬁ bp_I.CILﬂ*.

Marks 0-10 10-20 20-30 30-40 (40-50  [50-60 60-70 (T0-B0  (B0-%0  [90-100

No. of 5 9 16 4 b 18 1l b 4 3

students

byow N ogwe ot the  guen diribution on o 8‘"':"?‘“ aleet.
tye o Suitole Qcale for Your malﬁ~ e Jour Cﬁi\hﬂ_ t0
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sol.

Representing the given data in CF table as given below:

Marks Number of student Cumulative Frequency
0-10 5 5
10-20 9 14
20-30 16 an
30-40 22 52
40-50 26 78
50-60 18 96
60-70 11 Lo7
70-80 6 113
80-90 4 117
90-100 3 120
|
T
t 120 waaz_p P01 t100,120)
—— 100

““.(ilill-iﬁl;z%ﬂ,m}

70 80 90 100
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4o Qve Ahly Areston )
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0-9 10-19

20-29

30-39 |40-49

50-59

60-69 I?E]-Tﬂ 80-89

90-99

No. of

students

16

18

1| 6 4
|

Qtwtmﬁ’ﬁna e Guen Blx i of dalkle ax @iven xlow:

Marks Number of Cumulative Frequency
students

0.5-9.5 5 5
9.5-19.5 9 14
19.5-29.5 16 30
29.5-395 22 52
39.5-495 26 78
49.5-59.5 18 96
59.5-69.5 11 107
69.5-79.5 6 113
79.5-895 4 117

3 120

89.5-99.5
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oD Pupi[b W a S-th}ﬂf l’\D\UL hej‘ﬂhﬁ g -!-_al::ul.o.‘fédl i’.‘ﬂfbw'

Height (in cm) 121-130 131-140 | 141-150 151-160 161-170 171-180

No. of pupils 12 16 30 20 14 8

praw the e Sor e alove A5 ard Lom it
Aetevmine e Tredion (L roph paper )

@Eﬁf@’%”ﬁr& “he Ayluen A0E o cumulatie —@mc'u@n(:é
“deide (v Corkipuious  cztiibution )

Height in cm No. of pupils c.f.
120.5- 1305 12 12
130.5-140.5 16 28
140.5-150.5 30 58
150.5-160.5 20 78
160.5-170.5 14 92

170.5-180.5 8 100




Heve n=100 which i an even nDumber .
. \ N L) S B \
Median = (Pt (Bw)) - 2] 190 (R

~ = ..ll_m.n = m‘g
=4 (%+s1) = -3

wow plot e oA (0.5, 12) (805 28D - (1505, 58).

(1e0-5, 18D - (170:5.42) and (18051000 on the gvoph
and in them o e bond  to BT an  dave  ay
Chow . |
Now toke point @(<0°S) on Yook and fwim A dvaw
a line ™ Ao w-ong we*’dna e Cume o P ord

: *'g’fﬂm PJ o o Um _,_E.P:' "'f;(} '1“&1113 WEH@ Tt' Oj" Q

oL QCIVTS) i e wedian.

{180.5,100)
170692)

™

[160.5,78)

1'_‘ A | T505,58)
- o T iy
S [0 y

I

(120,528
20—4200.5.48) ;
oo
10— W

.l? (130512) , Q' ¢

0 [ 1205 190.5140.5150.5160.5 170.51805 |

CLASS




I

Q3.

EXERCT SE - 922.3

M_ﬂ'ﬂ_‘-"\-\_\_

Fird the miode d e —Edlcm?na el of
(hy ®.2,0.1, 2,3 5.1

(o 5,1, 6,%,9,06- B 1.8

Lty 9, 0.2, %5 35,61, 5 2,7

Vb The mumber 3 occuts mosimum Hmey ke mode = 3
W) The number & 0ccurs monimumy Heg ke, ok = g
& T Pumbey S occuvh morimur)  Alere. e, mode = 5

Calenlate  -the  wean . the medion and dre. mode d the pumlew
3},1,1 b;&, 2‘; 'r l!ﬂ"
ﬁfmfﬁrﬁ ‘11"J therﬂjﬂa ij"fdl’_f L. 1l,,- 2, ﬂ-x .51 q—"f %, i:?

k‘U‘ Heon = _.ér.k— - 11"1.'1'."4‘9—""1*1-34-5,1-3*_!)
9]

- = _ﬂ = !
g L - 2.685
(W) deve n=g which iy eyen
. . _t_'}_\ n |
Hediory = é'l{ 5] *ng“.\]] - 5{%%1)]

> 'é“(t[-*ﬁ'ﬁ"h) = g(2t2) = &5

Vil ovel Z 00CYh mmandmurn tioney,

Mode = 2
Coleulale 4o meon, 4he  mredion ond te  mode & the
rﬁ’.‘l“ﬂ‘hﬂifa NumbeYs, w3, LS5, b, 3, b, 2,77, 2.

.Aﬂma‘u-a o -Cwiznd-ra ofdey 1, 92,3, 2.2 45,5, b,77

(V) Meaw & EX - _MBtA3434 U4S45+h+T  aq
. Ly ID - ‘W‘ =
L Heve n= 10 which 2, even

Medion = {Ef%ﬂﬁﬂwhrm'w(i&gﬂjﬁ ﬂfmj =;’.;[GT”+ET” ‘Earmq]

AL Ao =
=§(3+t,e)= > = 35

2.9’



-

8 |

Wiy Here 2 0Ccovk modimumn e . Mode = 3

A bobx Leored fap —gol'tnmi?j Akt o Vomowy  clasg “bals
Cl:mira a “evm , ech fesh l:e]-a meaked  oub o Q0
'S, 1, b, T, 10, 12, 14, Tb 19, 12, T

() what ore his modal movky 9

) what ove his meclian ﬁ“l&’ﬂ'«'.),z

Av;mrﬁ'ma 1%%) a.&CemiFVﬁ 0Tl 10, 19, 1@, 1y 15 Thalh (b,
1, 19

o Héda.? matks fa b a% itk octurh v m&ﬁmum ey

G Mew n=ll  which 1 odd

. R
L N e

v Hedian = 15

i) Mean = 2R _ T4I0412+1Q 4 1y +15+ Ihtlb +1b +1T+(F
n T 1

. 15% o
= = =14

Find the. meon, median ond mode 4 A Lolousin
rror abtained k,a b thudadll L, a clasg  fesb worked
ocuk "-‘Rr‘ 0 movky 0,0, &-al- .53 4% 5f51 5,5, E"E'f‘ 1.8

'H'F_EL = l’b
() Mean o 2% DtO4@+&+ 343434 44 S+545+51btbt T8
" 6
- '_f%k' _ "I" )

U0 Hedian = "{5(%1!’—+ .'SE.M)] = & ¢ 8™y "'aﬁ*’cé'lm{,)
= s(U4ts) = &5

i MNeve 5 pocurh ma'ﬂmun) ey
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Sol+

Find he mode By -he —Edlnu:}lra distwibution -

15 17

20 21

25

28

23 18

Nove wo oCCuxk tvm modimum  ~Hew, G 23 tHoeeg

Hode = 20 -

Calewloli e meoun, e wadion avd e wode o o

—?ollomiﬁa distsibution

No. of goals

No. of matches

Wi ﬁa e Ei\\.‘rt'_ﬁ dstcioution w ofF  distribution !

No. of goals (%) No. of matches(f) c.f. fx
0 2 2 0

1 4 6 4

2 7 13 14

2 6 19 18

4 8 27 32

5 3 30 15

Total 30 83




'{j H Hﬂ_ﬂ\?\. - 2"?1 - 33 _ ﬂ 1 ‘—[""—T
2 =20
G deve n= 30 whch 13 an €veb purnley

vedion = £ C R4 @]« 3 £4(2a0) ]
= 5'(: 15™ 4+ 1BY termn) - %C‘HB} = 2.
i) .J"’r%mnca of 4 K mormum e, &
o Mode = 4%
p.L—' o thn'rma Competition, +he Scotes o} & Coppetitoy |
Were A a;mﬂ '\"_.‘l'_].ﬂl_ﬂ

Score 0 1 2 3 4 5

Number of shots 0 3 5] 4 7 5

({ywhak wag hg mwodad <cde

o tobal w0l by  wedion Scde 7

Gy ok vy hiA el cede )

Liv) whah wos Win  wheon Seda )

Weiking o dAldribokion W CF doble .

B Score No.of shots cf fx
x) ()
0 ] 0 0
1 3 3 3
2 6 9 12
3 4 13 12
4 7 20 28
5 5 25 25
Total 25 80




ICH Model  2edo E’L 4 as it oecurd wo ma’ﬂmum -Hmu

be, T . Hcdp_:lf.*

) Here =S whick 4 an oad numbey.

Median = &%) | (4™ dexen
=1
Aentas tfﬂdi.ﬂkﬁ = T3
) okl Qe = 80

W) Moswn = 2 - 80 =
(Y O0A e oc 39

The delmlna. dalsle a‘:x}tﬁ, e k}&ek[a mﬂagcm Q&J Oi’*

raorkeYh W o —'Eac}m%'.

Weekly wages 500-55 560 b 65 b5-70 | 70-75

15-40 B80-g5 35-90
(InRs)
No. of workers 5 0 1) 10 g 6 12 8
&!‘C wl o, ti? H -

Lo The  waloay
Vit wodel) closg

U e woe 9 Wovkerg aﬁ'q__ﬂ}ua w_uu& gy

below P8O

L) Thae wo.d wevkers Cﬁf_ﬂl"a Re. b o¢ mt’i‘m_l Lu -

lestthony,  Ru- 85 os wze.kk% Hages




|l0-

Weekly wages No. of workers Class marks cf. fx.
(f) (x)
50-55 5 52.5 5 2625
5560 20 57.5 25 1150.0
60-65 10 62.5 35 625.0
e 10 67.5 45 675.0
fo-75
9 72.5 54 652.0
- &0
so55 6 77.5 60 465.0
2590 12 825 72 990.0
g 875 80 700.0
Total &0 5520.
W Meawn  — .._gi"‘_ . 5520
4 8o
U Modod Clasg

~Q—wmt~d 4 clasd S5- 60 14 wmaUwaum s 20
Clast B5-60 it ~the woda] clark .
;UHJ Mutzi_ Wvke xh cﬂah\ﬁ WH\% m‘;ﬁu, velow R 80 = Lo
(V) No- & workext ﬁiﬂt% abowe R6Crand  below Ry gy
ak hmkl\d, mﬁq = To-25 = 3.
@leutal 4o weom o Ha dishibution a}um below

Marks

-9 10-19

20-29

30-s9

40-49

50- 50

Frequency

4 b

12

b

7

5




Ao Gelt () T wediawn cloug

ﬁEpﬂM“H“ﬂ e %'Mﬂ} dittriloutiony v cp ke

U The  wodal clasg .

Class (Class Frequency CE Class Mark fx
(before adjustment) (after adjustment) (f (%)
0-9 05-95 4 4 _4.5 18.0
1g-19 05-195 b 10 145 87.0
w2 19.5-29.5 12 22 245 2940
0 25395 6 8 345 207.0
:: i:i“” 7 3 445 3115
ol S 5 40 545 2725
40 1190.0
G Meaw = £ MI0
s A Lo
) Heve n-= Lo o Wwhich 15 even ¢

Hediow = ’lﬁ f%@_ﬂ) + Lﬂé@_”)‘ﬁ: ch,rm]
= & (" +at tems )

- -Vedion  clatger o 20-49

(1) ?w% g the  claskes 9099

clogg, 1 20-29 .

 Madad

14

i




an

Find e wode o Hhe —G‘olfow‘ma Aittribotion bd olrrau)?n&
o \'\'\Lk'o%mm:

(Classes 0-20 20-40 40-60 60-30
Frequency 15 6 18 10
Class Frequency
0-20 15
20-40 6
40-60 18
60-50 0

FREOUENCY

o} 20 40 L60 80

CLASS ——»*

Proseob e cloages on X-amig ond ’fm"wn&d N Y—ang,
We  draw a H\,doamm oy Shown -

rom the pownk AR and €D

\rfrer & cHn
M. and -from ML 1 o - ol g ach othr ok

co L8 e wediow N ISTI N R €9 |



gl Fird dhe ool height of e lowing  distaibution by
| drmrﬂ'na o h‘l.k,{-t:}ﬂ'mm:

Height (in cm) 140-150 150- 160 160-170 170- 180 | 180- 190
No. of students 7 6 4 10 2
1" [y
10
I A C
Es
[F%]
=
E 4 D \
S 2 B
=]
4
—(V » X
o] 140 150 160 170 180 190
HEIGHT (in gm) ———®*
Height (in cm) No. of
students
140- 150 7
150-1s0 6
160-170 +
170-150 10
180- 190 2

Now preaent o hﬁia%d‘ﬂ -0t ord 0. o Studeniy
E'%v_;vm«ﬁ‘) on  Y-ondd  and dvew o \‘ﬁﬂ,’mﬂmm a.g Zhourmn .

L

T dhe hogyom o eg, ond D iﬂ’f@,mcHrﬁ ak M.
KoM M, oW MHN o ka8 N Lhowd e wapde -

CotHewte ypode

= 11131- tm.



&IB-] Dyaw & H);foamm and estisml  the.  mod for the
.{d(ow‘\r\a '-@re:wxenca sty bution
|
' Classes 0-10 10-20 | 20-s0 30-40 40-50 50-60
{ Frequency 2 8 10 ] 4 3
“Y
adl. B &
| i
o
& B
)
&
Ea
2
L X
Of 10 20 giagg 40 S50 60 &
Classes Frequency
0-10 2
10-20 8
20-30 10
30-40 5
40-50 4
50-60 3
QQPfQLUTH"\é the clogtes on X—ods and 'frew@m\d oS
Y-omig ., Ne drmu.\) X H‘&baw‘m ol SWW\W)‘ Tn ~the Ht_t}bamm
6&‘: A and ?b \nhr}gchha o M- Fom M., dvaw ML
I ko A~ ‘L ShowA the node - g
P oHente mode = 3.




&l -

30

q o 50 Studeill way  vetovded a8 ollowt

| 10 scove B(-v0 90-100 | 100-110 . 110-120 120-100 | 130-140 ‘

| No. of students 6 9 5 | 13 4 2 ‘

pvow o hito YOI fav the  akove dalz  and emtimate -
wede

IQ Score No. students
of
80-90 6
90- 100 9
100- 110 16
110-120 13
120- 150 4
150- 140 9

QEPW&EI‘H“@ the 1Q b BN -0z and vo-4 udend
‘on Yoomik, WC draw o haam@mm a3 Chown. join AL
ond  £D 'm*mr.n,ecHra eachh othey  ab M. from M dhoaw
1 4o A-ans

Loia the mock which ik 107

M1l
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qis| The doily pofik e R G 100 Cheps in o mavkeb
| AYe diatributed ot ollows :

Profit per shop 0-100 100-200 | 200-300 300-400 | 400- 500 500-e00
(inRs)
No. of shops 12 18 27 20 17 6

brow o M,d'oavo\m 4 the N 35\)&) above , & zqo.PL\
popey and ogtimale the mode -

Ay

L2
™

NO. OESHOPS —

w

O| 200 200 L300 400 S00 600

PROFITIN Rs, ——»

Profit per shop (in No. of shops
Rs.)
0-z100 12
100- 200 18
200-s00 27
300-400 20
400- 500 17
500- 600 6




&lb.

Rgpfaﬂ,aﬁ“*ﬁ pyofit- per Chop  on A-ony  and no o fhnf.g
o Yeanic . e dran) o é‘ﬁféhaf&m ay  Showr

.O;ﬂ _H_E &i"f; allp) ijr‘t’gchﬁ E.::\QE\ ey al M, '_Ffﬂ‘ﬂ"l H
ii‘fmw HL 2B o A_anly . LU the mode which
P 260

Brow & thamm Lo e —Forfawfr‘@ distribution:

Wt.(inkg) ] 40-44 45-49 50-54 355

No. of students 2 8 12

B0 5-4

oW 6 4

Herte  etirmdle the  meda) P\E-iﬂif‘\}"'-

We wrils He %wm digtribution Lo cotiruoug v on .

Wt. Inkg. No. of students
39.5- 445 2
445- 495 8
495- 545 12
54.5-595 10

59 5~ 64.5 6
64.5-69.5 4




r;

RQPmJ:.EﬁHTﬂ the %FCW K3) oM AL-01i8  and no: of
GodeTly 0 Y oL Ne dow) o h‘u’foﬁmm ar Chow .
Now (oI AB and CD h;wﬁwcﬁﬂa ooch Ofhor ab M.
Mo M. diow ML L 40 yoong L fa e wode

;- which 1 ‘Sl~‘jhﬂ.

Find o wode 0;-"&.1!_ —‘Eo‘ﬂnm‘ma digtn bution bﬁ d‘muj;ﬁa
o Hﬂ.fﬂf%mm-

Mid value 12 18 24 30 36 42 48

Frequency 20 12 8 2% 16 : 12

¥ L3
24 A C
I M B
16 : /s
S
z &
2z
E D
]
8 - X
ol ¥ 13 A 7 33 33 45 57

CLASS ——p



Mid value Class Frequencv
L O9-15 20
18 15-21 12
24 21-27 g
27-33

30 24
35-39

36 16
39-45

42 45-51 8

48 12

Rgprz,;mh‘ clagg on  A—awg ond —Flwmntﬂ ™ Yooy
we diaw & hitfogram ey shown. jon HB and D
iﬂ&mr_ﬁrﬂ cothothay b M. Lom M, dvow ML ™
4o -oug . L chowr the wode whick iy 2005

ond clag W 2AT-37%.



